115A Week 6 Dis A
Monday, November 9, 2020 1:00 PM

-18V
2K

-6V v,

5.3K I

“ \S\g le AV



Problem 7 (Bonus - 10 marks)

For the circust shown, transistoes () and Qs operate in the active mide region with Vyg; = Vags
=07V, fy= 100 and By= 50. Find I, Vi and Vi,

Far the cinesil shawn, utilizing ideal dodes, sketch the outpon wisefiarm for the input shown
Lahe| the misy possiive and most negative pultput levels.
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Problem 3 (20marks)

For the common-emitter amplifier circuit shown below:

- Find the dc collector current of the transistor and the output de voliage.
- Find g, and ry.

- Find the voltage gain (v /v, and the input resistance.
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Problem 1 (20 marks)
For the shown carcuit, sketch Vi, va. Vi . Let Vg changes from -5 ¥ 1o 5 V. Label the impartant
break points. Assume jdeal dindes.
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